OFM\/A Je - ZWN{W"WAK hwun g

f@ Y Qo) e qQ 3«
W@W Lol foo el s g

—g e Rriy u"ﬁwkﬁ’q .
VWW oty Wﬂa el

MJ\ %Lr MJWZV‘MLK |

cmx o ol ppon 4 K)






Z,> |l 10 MLA«ZJM/@ o p\UZ/rW/g,

Y - . k"z
GL=-Z /L=0 JAso="2FOA 4\2 "

o 35 WVOIAA0NE VL Gy
— ¢ Lx
= PA?‘ +0x+C |«
A%) | DXL—} By 4 F

Al:_ x-f& Q A){-@&X‘i(_]
”2( [QISHE Z[Dwéxﬂ'

-S



o dueds dosashy ()

[

J @AvXK*ZﬂHZ—fZAX-fBj =[2 o A 4x 4 C 2* 1
LZDYZ%X fF +2)x + £ 4 2 [I)xﬂEx tF [/]
. deita

‘éExJZYSHZG?AHK 2(A><-+Bx+'(_)+ 1
f/WngJZF+2>x+§ Ax+ﬂx+¢+g£_><—+§x+13> /I
tlida, st 24 = 2A
i X - ;/ﬁ"fZA %@ > A=0
o0 426 = 2¢+4 = 81

Z\}%L\ X Z/D A+Z/])/
: 2)+28 = ~Q +2& > -

MYO: E*/ZF"CTZZF"'/{ C‘/f (%G/ﬁ)
£ A+
F=/‘U(/ze//Z)






Setol
I

”/] = ~4\\/—% + [/ QY
92 0 -1 1

14 5|

o

| = (11 :;‘V
1 4 8
M oA <1 =4 :(4-2)(*7()(5'201”42—{-’?

2 A | (3R-40-4) 4 Y(EA) =
[3 ¢ 2

—

| §)
‘ = c 1‘4 A 4=
=~ﬂ$+éﬂq—§ﬂ+2(7~(;%+42)—-ﬂ+ A M A+

= - (ﬂ—l)g;O 2’“1312'

e s g 22
paok= (1 =2 —f‘j* i R (S
3 2 - i/ o & O
% ¢ 3J< l—@”z va
1

x 4 12=0 2=AGhell) '(_/CA:/é | A M= g
ZAa =0 *2_/& /;) /



Fadipr Squtam A Masb
A
A g -ANA-2 -1 |T |2 2 2 (%)
-y =L -7 . =2 -1 o O O
. 4 5%+ 3 -2 2 2
4 28 A -8 A -2E)°
i
xtit2=0
/}- F«fl‘/h =LA 4 A [ ﬁ
,
/jfs g y 2= A Ghell)
L . ; 7\ 2 C(rsle)
Toto 3I€ x= —K’/(?
— () AUS VL. VEICTOR
ey 5 X o~
| 0 /=€ <I§\ + (AJZE).X)-ﬁ’“z

AN B b P I R 4] F
- ( 31,3] [—z-z —1])[4]%
14 3 1/)]0









F281C = (v

tic = - ap=Amc=-A = =)
c =19
A V./NW QY
e = 1o
LM .
. X
N @& LX 2

- ’ - J <+ K4 Q/"CgrY‘_—X ‘QﬂJ
?z/gHUZF q[‘jj}e 61%47 *Zx/) -

A+x=x"
L



| y /
W= [s0 4 + ¥

Ag _1 1 -7 7 [é‘]
_-20—/]

MUL " %W’QN\L/ A/“Q m M-“K a M.MO

ol

j=c7/ /;=O,OL+A‘4 = (romd Lok J*) k=0

.’4( N
o = F/Jsx-ﬁﬁj *g,o: Al
?P CerD f
[E*+FJ LE i

«Mmdow?






